- BRI -

ShaEL , 3 MUEEERIL N R, SO m R
S TR RS AR EST . MR
7\ $SIKAKAEERIRS,

RIFEE :
\ o EEEYBEL
o A, K. A, BREEL. iRt

| Bes |m0E| . v =

@mm mm g H/58 H/%8

o
BS WS e
il BAEN =

bar psi

4052600009 300 4350 160°C 1/2"GF 3-M6x6 4-M6x6 20 30x55 40+100 140 1 4059900038 1
4052600010 300 4350 160°C 1/2"GF 3-M6x6 4-M6x6 30 30x55 40+100 140 1 4059900039 1
4052600011 % 300 4350 160°C 3/4"GF 6-M6x8 4-M6x8 30 48x80 60+200 500 1 4059900040 1
4052600030 =R 300 4350 160°C 3/4"GF 6-M6x8 4-M6x8 40 48x80 60+200 500 1 4059900041 1
SNTRZ SR 4052600031 300 4350 160°C 3/4"GF 6-M6x8 4-M6x8 50 48x80 60+200 500 1 4059900042 1
4052600032 ™ 300 4350 160°C 3/4"GF 6-M6x8 4-M6x8 60 48x80 60+200 500 1 4059900043 1
4052600033 [ 300 4350 160°C 1"GF 6-M8x10 4M8x10 50 58x110 70+300 1000 1 4059900042 1
4052600034 & 300 4350 160°C 1"GF 6-M8x10 4-M8x10 60 58x110 70+300 1000 1 4059900044 1
4052600035 300 4350 160°C 1"GF 6-M8x10 4-M8x10 80 58x110 70+300 1000 1 4059900045 1

MR : RN



